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Rudin,	
  Chapter	
  3,	
  pp.	
  78	
  -­‐	
  79,	
  #6,	
  7,	
  8,	
  11,	
  12	
  
	
  
6.	
  	
  Investigate	
  the	
  behavior	
  (convergence	
  or	
  divergence)	
  of	
  ∑an	
  if	
  
(a)	
  	
  an	
  =	
  

€ 

n +1 − n ;	
  	
  	
  

(b)	
  	
  an	
  =	
  

€ 

n +1 − n
n

;	
  

(c)	
  	
  an	
  =	
  

€ 

nn −1( )
n
;	
  	
  

(d)	
  	
  an	
  =	
  

€ 

1
1+ zn

	
  for	
  complex	
  values	
  of	
  z.	
  

	
  

7.	
  Prove	
  that	
  the	
  convergence	
  of	
  ∑an	
  implies	
  the	
  convergence	
  of	
  

€ 

an
nn=0

∞

∑ 	
  if	
  an	
  ≥	
  0.	
  

	
  
8.	
  	
  If	
  ∑an	
  converges,	
  and	
  if	
  {bn}	
  is	
  monotonic	
  and	
  bounded,	
  prove	
  that	
  ∑anbn	
  
converges.	
  
	
  
11.	
  	
  Suppose	
  an	
  >	
  0,	
  sn	
  =	
  a1	
  +	
  	
  +	
  an,	
  and	
  ∑an	
  diverges.	
  

(a)	
  	
  Prove	
  that	
  if	
  ∑an	
  diverges

€ 

an
1+ ann=1

∞

∑ 	
  diverges.	
  

(b)	
  	
  Assume	
  an	
  >	
  0	
  and	
  ∑an	
  diverges.	
  	
  Let	
  sn	
  =	
  

€ 

aii=1

n
∑ .	
  	
  Prove	
  that	
  

€ 

an
snn=1

∞

∑ 	
  diverges.	
  

Hint:	
  
  

€ 

aN +1

sN +1
++

aN +k

sN +k

≥1− sN
sN +k

.	
  

(c)	
  	
  Assume	
  an	
  >	
  0	
  and	
  ∑an	
  diverges.	
  	
  Let	
  sn	
  =	
  

€ 

aii=1

n
∑ .	
  	
  Prove	
  that	
  

€ 

an
sn
2n=1

∞

∑ 	
  converges.	
  	
  

Hint:	
  

€ 

an
sn
2 ≤

1
sn−1

−
1
sn
.	
  

(d)	
  	
  What	
  can	
  be	
  said	
  about	
  

€ 

an
1+ nann=1

∞

∑ 	
  and	
  

€ 

an
1+ n2ann=1

∞

∑ ?	
  

	
  

12.	
  	
  Suppose	
  an	
  >	
  0	
  and	
  ∑an	
  converges.	
  	
  Put	
  rn	
  =	
  

€ 

amm=n

∞

∑ .	
  

(a)	
  	
  Prove	
  that	
  
  

€ 

am
rm

++
an
rn

>1− rn
rm
	
  if	
  m	
  <	
  n,	
  and	
  deduce	
  that	
  

€ 

an
rnn=1

∞

∑ 	
  diverges.	
  

	
  

(b)	
  	
  Prove	
  that	
  

€ 

an
rn

< 2 rn − rn+1( ) 	
  and	
  deduce	
  that	
  

€ 

an
rnn=1

∞

∑ 	
  converges.	
  

	
  


